423 +6 = 4+638= 587 +9 =
423 -6 = 638 -4 = 587 -9 =
423 +60 = 40 + 638 = 587 + 90 =
423 -60 = 638 -40 = 587 - 90 =
523 + 300 = 638 + 400 = 700 + 919 =
523 - 300 = 638 - 400 = 919 - 700 =
150 + 36 = 25+420 = 95 + 42 =
150 - 36 = 420 -25= 95 -42 =
36"‘23: d?'l-az: 55+14=
36-23= 47-32 = 55 - 14 =

490 + 370 = 630 + 290 = |920+130=
490 - 370 = 630 - 290 = :I 920 - 180 =
3,600 + 2,300 = 4,700 + 3,200 = | 5,500 + 1,400 =
3,600 - 2,300 = 4,700 - 3,200 = | 5,500 - 1,400 =
4,900 + 3,700 = 6,300 + 2,900 = 9,200 + 1,800 =
4,900 - 3,700 = 6,300 — 2,900 = 9,200 - 1,800 =




Colin thinks 570 — 90 = 460. %%i Coco thinks 360 + 470 = 8300

Do you agree? Explain your answer. Explain why Coco is wrong.

A4 ; - ;
6 1. The numbers in the sequence increase by 23 each time.

Find the missing numbers:

29 75 98

2. Find the missing digits to complete the calculations:

4 + 5 =7

- e - 400=1 0







